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Upheaval in Western Christendom, 1300-1560

1. What were the consequences of the 1347-1348 pandemic known as the Black Death?

a. How many people died?

b. Results:

1. Survivors:

2. Rebellions:

3. Hundred Years War (War Chart)

2. How did the medieval church lose some of its prestige in the fourteenth century?

a. Unam Sanctam

b. Babylonian Captivity

c. Great Schism

d. John Huss

e. Conciliar Movement

f. Simony, Concubinage, Nepotism, Indulgences

g. Pragmatic Sanction of Bourges

The Renaissance

1. What is the Renaissance conception of life, how was it born in the Italian city-states in the late medieval period and the Quattrocento?

a. Secularism

b. Politically independent City-states

c. Medici family

2. How were these values reflected in the arts & literature?

a. New artistic forms & artists (styles and major works)
b. Written subjects of personal interest, audience of humanists

1. Christine de Pisan

c. Vernacular

1. Dante (Divine Comedy)

2. Petrarch (love sonnets, tracts, etc)

3. Boccaccio (Decameron)

4. Pico della Mirandola (On the Dignity of Man)

d. Education

1. Castiglione (Book of the Courtier)

e. Marriage

1. Women: Early education, moral training of children, married young

3. How did Italian political life relate to cultural movement known as the Renaissance?

a. Private armies, competitive city-states

b. Oligarchy

c. Machiavelli (The Prince)

4. What distinguished the Northern Renaissance?

a. Relationship with medieval world

b. Religion (stronger influence) & Humanism

c. Erasmus: Religious & moral reform, fostering civility & tolerance (Praise of Folly)

The Reformation

1. Who were the main groups supporting the Protestant Reformation?

a. Popular dissatisfaction with church:
b. Peasants Revolts in 1520’s:
c. Middle-class Germans view:
d. Kings & Princes:
2. What ere Luther’s criticism of the church?

a. “Justification by Faith Alone”:

b. Tetzel & Indulgences

c. 95 Theses

3. How did Lutheranism become a successful movement, & how did that change Lutheranism as a religious movement?

a. German Prince’s support:

b. Diet of Worms:

c. Vernacular Translation of Bible:

d. Peasants (“equality of all believers”):

e. Changes in Luther’s views:

f. Charles V & Peace of Augsburg:

4. What was distinct about Calvinism, and why did it become the most prevalent international form of Protestantism?

a. Predestination:

b. Geneva (Theocracy):

c. Oxymoronic position toward democracy:

5. What was unique about English Protestantism?

a. Henry VIII:

b. Act of Supremacy:

c. Edward, Mary, & Elizabeth I (views and practices):

6. Why does the Protestant Reformation matter so much?

a. Shared protestant traits:

b. Family life:

1. Marriage

2. Convents

3. Education

7. How did the Catholic Church fight back against Protestantism?

a. Council of Trent:
b. Papal power:

c. Transubstantiation:

d. Reforms

1. Monastic life:

2. Abuses:

e. Missionary work:

1. Jesuits

2. Index

3. Major states remain Catholic

Economic Renewal & Wars of Religion

Opening the Atlantic

1. How do European trade patterns change when the Atlantic changes from barrier to bridge?

a. Mass movement of people, ideas, culture (positive & negative):

b. Global trade:

c. Establishment in Asia (Constantinople):

2. What was the impact of the encounter between Europe & the Americas on both America & Asia?

a. Technological developments:

b. Motivations: (Religious, economic, social):

c. Slavery:

d. Viceroyalties:

e. Silver mines:

Commercial Revolution

1. How did Europe become a predominantly commercial society?

a. International trade:

b. Town-based to nation-based commerce (Capitalism)

c. Population growth:

d. Rise in prices (Inflation):

2. What was the impact on economic life and society of this economic transformation?

a. Guild system (Fuggers):
b. From guilds to “putting out” system:

c. New industries: (cloth, mining, printing):

d. International trade:

e. New banking:

3. What were the characteristics of mercantilism, and why did many governments adopt it?

a. Buillionism (national self-sufficiency):

b. Putting the poor to work (Poor Law, 1601):

c. End of the Guild system:

4. How did the changes of the Commercial Revolution have lasting impact on the social structure of Europe?

a. Agriculture prices:

b. Urban housing:

c. Wage earners:

d. Feudal class ( modern aristocracy:

e. Middle-class (Bourgeoisie & burgher):

f. Clergy:

g. Woman’s role:

5. How do Eastern & Western Europe compare?

a. Benefits to Middle class & peasantry in West:

b. Sink into serfdom

c. The robot
6. What were the political parameters of Spain during the golden ages?
a. Habsburg dynasty divided (Charles V abdicates):

b. Ferdinand (HRE):

c. Philip II:

d. Spain’s Golden century

1.  Silver mines (economic):

2.  Cervantes, El Greco (arts/sciences):

e. Catholic church in Spain:

f. Dutch rebellions (Duke of Alva):

7. What was the Netherlands in the early modern period, and why did they revolt against Spain?

a. Modern Netherlands, Belgium & Luxembourg

b. Northern:

c. Southern:

d. Reasons for revolt:

e. Duke of Alva & William of Orange:

f. England’s role:

g. Union of Utrecht:

h. Peace of Westphalia (1658):

i. Spanish Armada:

j. Reasons for Spain’s decline:

8. What were distinguishing features of France in the early modern period?

a. Large, populous, diverse:

b. Religious issues (Calvinism for Nobles):

c. Protestantism in SW France:

9. How and why did religion wars being in France? Who won?

a. Henry II (1559):

b. Catherine de Medici:

c. Duke of Guise:

d. Henry of Bourbon (King of Navarre):

e. St. Bartholomew’s Day Massacre:

f. Politiques (secularists):

g. Henry of Navarre as King Henry IV:

h. Edict of Nantes:

i. Cardinal Richelieu/Louis XIII:

10. What ere the divisions within the Holy Roman Empire?

a. Large, divided by ethnicity, religion, language:

b. Protestantism:

11. What was the Thirty Years’ War, and why was it important?

a. German civil war:

b. Catholicism vs. Protestantism

c. Constitutional (Central or decentralized authority):

d. International conflict:

e. Three Phases:

1. Bohemian (1618-1625):

1. “defenestration of Prague”

2.  Danish (1625-1629):

1. King Christian vs. Duke of Wallenstein:

2. Edict of Restitution:

3.  Swedish (1630-1635):

1. Gustavus Adolphus:

2. Edict of Restitution Nullified:

4.  Swedish-French (1635-1648):

12. What were the long-term consequences of the Peace of Westphalia?

a. Peace of Augsburg augmented:

b. Setback for Counter-reformation:

c. HRE weakened:

d. German Unification delayed two centuries:

e. Physical damage to Germany:

f. European unity idea damaged (acknowledge a Europe of independent states):

g. Raisons d’etat (Reasons of the state) now dominates:
The Growing Power of Western Europe, 1600-1715

The Dutch Republic

1. What were the chief international issues facing Europe in the seventeenth century?

a. Louis XIV (French expansion, Alsace Lorraine):

b. Spanish Succession (Habsburg power):

c. Balance of Power concept to counter “universal monarchy”:

d. Dutch leader, William III (prince of Orange, later King of England) leads to check Louis’ power:

2. What were noteworthy cultural achievements of the Dutch Republic?

a. Commercial and Cultural success:

b. Discoveries: Telescope, Saturn’s rings, wave theory of light:

c. Art:

i. Rembrandt:

ii. Rubens:

d. Baroque:

3. What political, economic and military factors led to Dutch success and later decline?

a. Domination of seas in early 1600’s:
b. Dutch East Indies Company:

c. Dutch West India Company:

d. Amsterdam as Financial center (international currency):

e. Navigation Act of England:

f. Glorious Revolution:

i. Check on French ambitions:

Britain, The Civil War

1. What set the stage for revolution in England in the seventeenth century?

a. Religious conflicts:

b. Political (absolute vs. limited monarchy):

c. Culture coalesce, rising English power

i. Shakespeare:

ii. Coal:

iii. Woolen:

iv. Trade industry:

2. What was distinctive about the English Civil War?

a. Parliament over the King:

b. Model of liberalism & representative government:

3. What were the chief causes of the English Civil War?

a. Monarchy foreign (out of touch):

b. Propertied/aristocratic well-represented in Parliament:

c. Irish and Scottish conflicts:

4. What were the chief consequences of the English Civil War?

a. Modern land tenure:

b. Religious restrictions for office holders:

c. Assertion of Parliamentary power over royal prerogative:

d. Whigs & Tories:

e. Emigration out of England (radical Puritans):

f. Mercantilist legislation:
g. Dawn of Naval supremacy:

h. Constitutional (Limited) Monarchy:

5. What are the main events of the English Revolution? Why did parliamentary forces win in England?

a. James I (Divine Right of Kings):

b. Calvinist M.P.’s:

c. Charles I rule without Parliament:

d. Scot’s rebel over Book of Common Prayer:

e. Charles calls Parliament to secure funds:

f. Long Parliament, (New elections return same opposition):

g. Roundheads:

h. New Model Army:

i. Oliver Cromwell:

j. “Rump” Parliament:

k. Irish rebellion:

l. Navigation Act of 1651:

m. Levellers (more radical, opposed by Cromwell)

i. Manhood suffrage

ii. Written constitution

iii. Equal representation in parliament

n. Quakers:

o. Abolishment of Parliament (1653):

p. Restoration (Death of Cromwell) 1658, 1660:

6. How did the Restoration solve – and not solve – the religious and political conflicts?

a. Charles II (Catholic inclinations):

b. “Squirearchy”:

c. Dissenters (townspeople):

d. Declaration of Indulgence / Test Act:

e. James II (Catholic):

f. Tories (gentry & lesser aristocrats) vs. Whigs (merchants & upper aristocrats):

g. Tories & Whigs act together ( offer crown to Jame’s protestant daughter Mary
h. Glorious Revolution: William of Orange & Mary (1689)

i. Limited monarchy (Bill of Rights, 1689):

ii. Act of Settlement

i. United Kingdom formed (1707):

j. Persecution of Irish Catholics:

k. Bank of England:

l. Limited monarchy / Rule of Law:

France of Louis XIV, Absolutism (1643-1715)

1. What distinguished France in the seventeenth century?

a. Art, Architecture, Fashion, Writers, Philosophers, Scientists:

b. Salons:

c. Fronde (Cardinal Mazarin):

d. Louis XIV (to rule alone):

e. Absolutism (fusion of justice and power):

2. How did Louis XIV achieve his goals of centralization of political power?

a. Army transformed from private to national:

b. Versailles (Awe of nobility):

c. Intendants:

d. Mercantilist (Colbert):

i. Self-sufficiency:

ii. Tariffs:

iii. Commercial code

iv. Roads/canals/monopolies/tax relief

v. Colonies

e. Foreign Wars

f. Relations with Nobility:

g. Edict of Nantes Revoked (1685):

3. What were Louis XIV’s goals in the Dutch War, and to what degree were they thwarted by the European powers?
a. Goal to weaken Habsburgs:

b. Catholic & Protestant enemies organized League of Augsburg:

4. What were Louis XIV’s goals in the War of Spanish Succession, and to what degree were they thwarted by the other European powers?

a. Bourbon rule in Spain (Louis claims):

b. HRE Leopold I:

c. Grand Coalition of 1701 (William III):

d. Treaty of Utrecht (1713):

i. Partition of Spanish empire:

1. British gains & from whom:

2. Austrian gains:

3. Spain retains:

ii. No one person could inherit crowns of both Spain & France

iii. Weakened France

e. England emerges as great winner

f. First major war fought for commerce & industry, not religion

The Transformation of Eastern Europe
Three Aging Empires

1. Why were the Holy Roman Empire, the Ottoman Empire, and the Republic of Poland weak in the early modern period? What characteristics did they all share?

a. Hold Roman Empire:

b. Ottoman Empire:

c. Republic of Poland:

1. Differences: religion, longevity, connection to W. Europe

2. Share: Weak central authority, inefficient admin.

d. Austria, Prussia, Russia emerge as great states.

2. Why was the Holy Roman Empire so weak?

a. Reformation: devastated politically (Treaty of Westphalia)

b. Goal of Universality vs. nationality

1. No central bank, no colonies, merchant class, stock exchange

2. No uniform laws, tariffs, tolls, coinage, calendar

c. Political:

1.  “Germanic Liberties”:

2.  Prevented internecine war or conflict:

3.  Internal dynasties:
1. Hohenzollerns of Prussia

2. Guelphs of Hannover (Windsor in England by 1714):

4.  Austria – Hapsburgs

5.  Prussia – Hohenzollerns

3. Why was Poland particularly weak?

a. Elected monarch:

b. Heterogeneous population:

c. Aristocracy inviolate in its rights:

d. Central Diet weak:

1.  50 local diets

2.  Required unanimity

3.  Most meetings “explode”

e. Nobility pay no taxes:

f. No National army:

g. Peasantry ( surfs

h. Weakness key factor in rise of Russia & Prussia

4. How was the Ottoman Empire more successful in the early modern period?

a. Organization:

b. Army:

1.  Janissaries:

c. Religious tolerance:

d. Church & State:

e. French merchant influence:

5. How did a strong Austrian Habsburg monarchy rise out of the Holy Roman Empire?

a. Austrian Habsburgs had been the Holy Roman Emperors

1.  Transition from dying HRE to Spain & Austrian empire

b. Bohemia:

1.  Thirty Years War incorporation:

c. Hungary:

1. Turkish invasion and recovery:
d. Austria:

6. What were some defining characteristics of the Austrian Empire?

a. Unifying:

1.  Catholicism:

2.  Habsburg Empire:

1. Pragmatic Sanction:

2. Maria Theresa:

The Formation of Prussia

1. How did Prussia use its small size to its advantage in the seventeenth century?

a. Small state power:

b. Brandenburg:

c. Duchy of Prussia & Brandenburg (Peace of Westphalia) form Prussia:

d. Friedrich Wilhelm (Great Elector):

1. Focus on building strong army:

e. Frederick:

1.  German “King” thanks to War of Spanish Succession:

2. How did militarism infuse the Prussian state?

a. Military expenditures in relation to resources:
b. Independent of state:

c. Bureaucracy:

d. Junkers – absorbed into military service:

e. Junkers – authority over surfs:

f. King Frederick William I:

1.  Tall soldiers:

2.  Doubled army size:

g. Frederick the Great:
1. War with Austria:

h. “Remarkable creation”:

The “Westernizing” of Russia

1. How was Russia different from Europe?

a. Orthodoxy:

b. Warm-water ports:

c. Europeanization of Russia:

d. Autocratic state – Support the army:

2. What were the conditions in Russia before Peter the Great?

a. Slavic:

b. Traditions:

1.  Beards:

2.  Women secluded:

c. Church – No educational or charitable institutions

d. Political:

1.  Duma

e. Serfdom – Manorialism:

3. What changes did Peter the Great make in Russia?

a. Western influence:

b. Church weakened (no new Patriarch) & secularized:

c. Peter’s Goals:

1.  Protect Russia (Swedes & Turks):

2.  Est. Russia’s military:

d. Streltsi:

e. Army:

f. New Capital City:

g. Mercantilism:

h. New Administration structure:

i. Hereditary Succession:

j. Social Revolution:

The Scientific Revolution
Bacon & Descartes: Prophets of a Scientific Civilization
1. What were the conditions for scientific work before the seventeenth century?

a. Publishing of knowledge:

b. Skepticism (Montaigne):

c. Witchcraft:

1.  Why sustained?

2.  Why it died out?

2. Who were Bacon & Descartes, and what were their different ways at arriving at truth?

a. Bacon (Inductive) vs. Descartes (Deductive)

b. Humans could understand and control nature to improve human life:
c. Bacon:

1.  Truth derived from particulars:

2.  Observation – Experimentation:

3.  “Knowledge is Power”:

4.  Scientific method, but not mathematics:

d. Descartes:

1.  Deduction – Mathematician (analytic geometry):

2.  All nature can be expressed mathematically:

3.  System of doubt (“I think, therefore I am”):

4.  Dualism (physical & spiritual worlds):

Road to Newton: Law of Universal Gravitation

1. What were major advancements in other sciences?
a. Circulation of blood - Capillaries

b. Microscope

c. Mathematics:

2. What were the major innovations in astronomy?

a. Ptolemaic theory vs. Heliocentric theory

b. Copernicus:

c. Brahe:

d. Kepler:

e. Galileo:

f. Newton:

g. Institutions formed for scientific learning/study:

h. Practical scientific advancements:

3. How did these discoveries change the way people thought?

a. Humans not center of universe:

b. Gap between religion & science:

c. Secularization:

4. What impact did European encounters with the rest of the world have on their thinking in the seventeenth century?

a. Awareness of human differences:

1.  Skepticism:

2.  Relativism:

b. Evidence (end of witch-hunts):

c. Legal principles established:

5. How did ideas about history and religion change?

a. Gregorian calendar:

b. Locke:

1.  Empiricism / “Blank slate”:
2. Evil can be done away with improved Social environment:

6. How did the concept of natural law lead Hobbes and Locke to two very different conclusions?

a. Political Theory:
b. Natural Law (State of Nature):

c. Hobbes:

1.  Leviathan:

2.  Government’s created by men, not by God:

d. Locke:

1.  Life, liberty & property:
2.  Constitutional government:

3.  Racism:

e. Combination of Limited monarchy with modern scientific principles:

The Struggle for Wealth & Empire
Elite & Popular Cultures

1. How did the gap between elites & the ordinary people widen in the eighteenth century?

a. Elites:

1.  Power, Prestige, Wealth

2.  Language:

1. Local dialects vs. national languages

3.  Booked based vs. Oral culture

b. Poor:

1.  Conditions

c. Commodities:

d. Diseases, pollutants

e. Carnivals, theaters, witchcraft

The Global Economy of the Eighteenth Century

1. How did the global economy expand in the eighteenth century?

a. Domestic vs. International Trade:

b. Cottage Industries (domestic system):

c. Atlantic Trade:

1. England:

2. France:

3. Dutch:

d. Asian Trade:

1.  Far East:

2.  Russia (timber & grain):

2. Why did Europe become the wealthiest region of the world in the eighteenth century?

a. Commercial capitalism:
b. Slave labor:

c. Global resources & Labor enrich Europe:

1.  Generate capital & demand for goods:

3. What were the social consequences of this increase in wealth?

a. Most wealth held privately:

b. Standard of living:

c. Rich/Poor Gap:

d. Merchant class integrating with Aristocratic (marriage):

e. Social stability:

Western Europe after the Peace of Utrecht

1. How well did the European states recuperate from the War of Spanish Succession?

a. Spain (Absolutist):

b. Dutch:

c. France, Louis XV:

1.  Duke of Orleans:

2.  Growth of Aristocracy & Parlement power:

d. Great Britain:

1.  Whigs:

2.  Tories:

3.  Jacobites:

2. What were the great financial scandals of the 1720’s, and how did they come about?

a. War Debt:

b. Mississippi company (John Law):

c. Cardinal Fleury (Fr.) & Robert Walpole (Br.)
d. Nationalization of Debt:

e. Cabinet System:

f. War of Polish Succession

The Great War of the Mid-Eighteenth Century (1763, Seven Years War)
1. What was the “Great war” of the eighteenth century?

a. Seven Years War – French & Indian War – War of Austrian Succession

b. France vs. England over colonial economic competition:

c. Prussia vs. Austria over domination in Central Europe:

d. Professional Armies:

1.  Lowest classes serve:

2.  Civilians less affected – fought on battlefields vs. cities:

e. War of Austrian Succession:

1.  Frederick II (The Great):

2.  Silesia – economic stronghold:

3.  France Supported Prussia:

4.  Maria Theresa & Hungary

f. British defeat French in colonies:

g. Austria cedes Silesia, keep Belgium

h. Prussian population, size, resources increase

2. Why was the Seven Years’ War fought n Asia, the Americas, and in Europe? Who won?

a. Prussia as threat:

b. Competition for dominance in global economy:

c. British colonial importance:

d. India to the British:

3. What were most important terms of the peace settlement and its consequences?

a. Britain adds N American, east of Mississippi:

b. Spain: West of Mississippi

c. France: Keeps sugar colonies in Caribbean

d. Prussia grows in power

1.  “Germanic Dualism”:

e. Balance of Power:

PART II

The Age of Enlightenment
The Philosophes & Others

1. What were the hallmarks of Enlightenment notions of progress?

a. Combination of skepticism & reason:

b. Human life could improve:

c. God as “first cause” vs. redeemer, (watchmaker):

d. God was Intelligence, not love:

e. Progress (science, reason) required intellectual freedom:

f. Civil rights:

g. Philisophes:

h. Universalist:

2. What other intellectual and artistic trends also existed in the eighteenth century?

a. Music:

b. Pietism:

c. Deism:

d. Methodism (Wesley & Whitfield):

3. What were the cultural conditions for the philosophes?

a. Answers sought about social institutions & values:

b. Literacy increased:

c. Coffeehouses:

d. Public Opinion:

e. Censorship (forbidden books):

f. Paris (salons):
g. Public criticism:

4. What were the main ideas of Montesquieu, Rousseau, and Voltaire?

a. Montesquieu:
1.  Modern political science:

2.  Separation of powers (checks & balances):

b. Voltaire:

1.  Freedom of thought:

2.  Religious tolerance (“Crush the infamous thing!”):

c. Rousseau:

1.  Romanticism:

2.  Natural traits of kindness & honest, not reason, that define humanity:

3.  Social contract (General will):

4. Radical democracy (imposition of government, forcing to be free):

5. What did the newly created field of political economy contribute to the Enlightenment?

a. Physiocrats:

1.  Fiscal & Economic policy:

2.  Laissez-faire (self interest):

3.  Adam Smith (Wealth of Nations):

1. Law of Supply & demand:

2. Science of economics:

Enlightened Despotism: France, Austria, Prussia

1. What is enlightened despotism?

a. National enhancement:

1.  Infrastructure:

2.  Legal codes:

3.  Centralization of authority:

4.  Suppressed nobility & clergy:

b. Use of Reason in policy making:

c. Generally secular:

1.  Religious toleration:

2.  Hurts Catholic Church:

2. Why was enlightened despotism generally a failure in France?
a. Louis XV’s indifference:

b. Financial problems (nobles & church exempt from taille):

c. New taxes generally evaded:

d. Parlements (“intermediate bodies” promoted by Montesquieu) resistance:

e. Louis XVI:

1.  Weakness, tried to prove he was not despotic:
2.  Appeased the aristocrats, fails to gain from it:
3. In what ways were Maria Theresa and her son Joseph II enlightened monarchs?

a. Maria Theresa:

1.  Mercantilist (free trade zones within empire):

2.  Serf relief:

b. Joseph II:

1.  Abolished serfdom:

2.  Equality before law:

3.  Religious toleration:

4.  Civil rights (free press):

5.  Created state bureaucracy:

6.  Opposed traditional aristocratic privileges:

7.  Secret Police:

c. Most reforms overturned upon Joseph’s death

4. What aspects of the Enlightenment program did Frederick the Great promote?

a. “First servant of the state”:

b. Public Education for all classes:

c. Highly stratified (barriers to societal interaction)

d. Improved conditions for serfs, but not to antagonize Junkers:

Enlightened Despotism: Russia

1. How was Russia culturally different from the other European powers in the eighteenth century?
a. Westernization trend:

b. Political instability after Peter’s death:

2. How did Catherine the Great attempt to reform Russia?

a. Financially supported Diderot & other philsophes:

b. Codified laws – restricted torture:

c. Some religious toleration:

d. Pugachev’s Rebellion (A step too far):

1.  More repressive toward serfs:

2.  Landlord power increased:

e. War with Ottoman Empire

1.  Won territory in Crimea:

2.  Encouraged Austria & Prussia to war with France:

3.  Partition of Poland

3. What were the long-term results of enlightened absolutism?

a. Strong reactions from nobility & clergy:

b. Stronger state, weaker traditional authorities:

Partitions of Poland

1. Why was Poland vulnerable to partition?

a. Decentralized political structure:

1.  Elected Kings:

2.  No national army:

3.  New constitution written, reforms began – ended by Catherine the Greats invasion:

2. How was Poland dismembered?

a. Russia’s victories in Turkey upset balance of power:

b. Prussia’s solution was to divide Poland to restore balance:

1.  Second partition resulted from Catherine’s suppression:

2.  Russia & Prussia divide again to suppress reform movement:

3. What were the consequences of the three partitions of Poland?

a. Seen as modern state taking over antiquated (feudal) state:

b. White Russian & Ukrainian populations:

c. Balance of Power System abandoned its protection of smaller states:

d. Need to smaller states to protect themselves:

1.  Modernization of armies:

2.  Strong executives:

e. French outpost in E. Europe is gone:

f. East toward reaction:

g. West toward liberalism:

New Stirrings: The British Reform Movement
1. What was the Age of Democratic Revolutions, and why did it come about?

a. American Revolution (1776):

b. Parliamentary power & democratic principles:

c. Democratic Revolutions:

1.  Shared demands for constitutional govt.:

2.  Individual revolutions vs. International movement?

d. Did NOT call for:

1.  Universal suffrage:

2.  Reform of Property Rights:

3.  Opposition of Monarchy:

e. DID call for:

1.  Written constitutions:

2.  Liberty, equality, majority rule:

3.  No privileges by birth:

f. Church generally weakened – Secularism enshrined:

g. Bourgeoisie benefits as noble values fade:

2. How did England use its democratic powers in the late eighteenth century?

a. Self-administrating British empire:
b. English self-complacent, self-appreciated:

c. Historians: Gibbon & Hume, Parliament’s Edmund Burke:

d. Parliaments power grows:

e. More Freedom of press in England:

f. Scottish relations - Highlanders:

g. Irish – Presbyterians

3. Why did the American Revolution matter?
a. Natural law theory vs. legitimate authority:

b. Advancement of democracy:

c. Slavery:

d. Direct cause of French Revolution:

1.  Ideals

2.  Bankrupted French monarchy

e. Adam Smith – Wealth of Nations (1776):

f. Political documents – Equality before the law – Constitutionalism

The French Revolution

1. What was the legal, social, and political status of the three estates?

a. Estate membership:

1.  Determined rights, privileges, treatment in courts:

2.  Remnants of feudalism:

b. First Estate (Clergy):

1.  Major land owner:

c. Second Estate (Nobility):

1.  Most government offices:

d. Third Estate (Everyone else):

1.  Bourgeoisie – Merchants & Lawyers:

2.  Resentment of aristocrats:

3.  Rise in cost of living (bread):

4.  Manorial rights – mainly rural population (80%):

5. France as a National State – allows for revolutions success:

2. How did public opinion & popular culture set the stage for revolution?

a. Enlightenment:
1.  Intellectual environment:

2.  Philosophes were not revolutionaries:

3.  Public opinion:

The Revolution and the Reorganization of France

1. How did financial crisis in the government set the stage for revolution?

a. Military costs (25% of budget):

b. National debt (50% of budget):

1.  Ability to manage debt is limited:

2.  Necker:

3.  Calonne:

1. Taxation attempts:

2. Attempt to break local parliaments:

3. Result – forced to call Estates General:

c. Estates General – How to meet? (voting):

d. Bourgeoisie Expectations:

1.  Abbe Sieyes (What is the Third Estate?):

2. Mutual suspicion/tension:

2. How did the Estates General become the National Assembly?
a. Voting by Order vs. Head:

b. Tennis Court Oath:

c. King sides with Nobles, loses credibility with Bourgeoisie:

d. Lower Classes – Calling of Estates General offered promise to address grievances:

e. 1788 – poor harvest, bread prices

f. Parisians arm in response to royal troop build-up – Bastille:

g. King capitulates:

h. Great Fear of 1789:

3. What were the reforms of the National Assembly? What changes did they make in France?

a. August 4, 1789 – Feudalism abolished:

b. Declaration of the Rights of Man & Citizen:

1.  Equality before law

2. Civil liberties

3. General Will

c. Women Excluded:

1.  Olympe de Gouges

2.  Mary Wollstonecraft

3.  Divorce permitted in 1792

4.  Women’s clubs begin, but ended by 1793

d. Divided on Model of Government:

1.  English model vs. almost no power for king:

2.  Unicameral legislature with limited veto power for king is created:

4. How did economic and social issues lead to radicalization of the revolutionary movement?

a. March to Versailles:

b. Émigrés:

c. Jacobin & other Political Clubs:

d. Constituent Assembly (Writing the constitution):

e. Constitution of 1791 – What did the new government look like?:
f. Flee to Varennes:

g. Women as “passive citizens” – “Active citizens” were men over 25, paid small direct tax & voted

h. Economic:

1.  Favored middle class:

2.  Assignats:

3.  Abolished monopolies, guilds, unions:

4.  Church land confiscated:

5. How did the Constituent Assembly transform the Catholic Church in France?

a. Nationalization of Church property:

1.  Loss of income for orders & schools

2.  
Civil Constitution of the Clergy (1790):

1.  Creates the French National Church

2. Priests & Bishops are elected, no interference from Pope

3. Loyalty oath required

4. Seen as tactical error – alienated large groups from Revolution:

5. Church viewed as anti-democratic

The Revolution & Europe: The War & the “Second” Revolution

1. How did the Revolution split Europe into divided factions?

a. Inspiration:

1.  Nobles in Poland, Hungary:

2.  Workers & Peasants everywhere:

3.  Declaration of Pillnitz:
b. Girondins:

1.  War declared

2. Why was there a “second” revolution?

a. Dissatisfied peasants & urban workers:

b. Émigrés had removed much gold, devalues assignats:

c. War goes badly initially:

d. King seen as pawn of foreign powers (Brunswick Manifesto):

e. September Massacres:

f. Paris Commune:

The Emergency Republic, 1792-1795 – The Terror

1. What were the successes of the early Republic?

a. National Convention:

b. War goes well:

c. Jacobins divided:

1.  Girodins:

2.  The Mountain:

3.  Sans-culottes:

d. King tried – voted to die by one vote:

2. What was the Reign of Terror & why was it believed by some to be needed?

a. War turns against France, 1793

b. Economic conditions worsen:

c. Commune of Paris arrests Girondins

d. Rise of Robespierre:

e. Committee of Public Safety:

1.  Revolutionary courts:

2.  Targets:

3. How did the Committee of Public Safety rule France?

a. Centralized:

b. Levee en Masse:

c. Stabilized assignats:

d. Convention Abolished slavery (1794)

e. No tolerance for anarchy or mob violence:

f. Dechristianization:

g. Cult of Reason

1.  Calendar

2.  Church of Notre Dame:

h. Cult of the Supreme Being (Diest):

i. Danton executed:

j. Army promotions on merit rather than title:

k. Thermidorian Reaction:

l. White Terror:

The Constitutional Republic – The Directory, 1795 – 1799:

1. Why was the government of the Directory inherently weak?

a. Constitution applied to Belgium – maintains war with England & Austria:

b. People of means voted for electors who voted for Directory members:

c. Alienates the Right: Royalists opposed – Napoleon puts down mob:

d. Alienates the left:

e. March 1797 – First Free Election – Royalists win majority of seats:

f. Napoleon helps Directory oppose a Royalist Coup (1797):

g. War ends – Austria gives up Belgium to France:

2. How did Napoleon come to power, and what did he do with it?

a. Napoleon’s greatest victory in Egypt against British, 1798:

b. Second Coalition against France:

c. Coup d’etat(Nov. 9, 1799) – Napoleon takes over:

d. Consulate:

3. What was remarkable about Napoleon Bonaparte?
a. Masterful personality:

b. Enlightened:

1.  Plebiscite:

2.  Peace:

3.  Secret police:

4.  Invited back Émigrés:

c. Concordat with Pope (1801):

1.  Pope gains authority over clergy, accepts religious toleration in France

2.  France keeps church lands and tithe

4. What major reforms did Napoleon accomplish during the Consulate?

a. Government was only legal authority:

b. Offices no longer sold or granted via privilege (merit alone):

c. Careers open to talent:

d. Censorship and suppression of opposition:

e. Tax exemptions abolished

f. Better tax collecting, administration:

g. Law codes:

1.  Modern property rights:

2.  Husband over wife:

h. No real legislature – benefits of revolution secured

i. Consul for life (1802) – “Emperor” (1804)

j. Spreads revolution beyond France:

Napoleonic Europe

1. What established peace, and why did it not last?

a. Treaty of Campo Formio:
b. Sale of Louisiana:

c. Renewed warfare with Britain:

d. Alexander I (Russia):

e. Lord Nelson (Battle of Trafalgar):

f. HRE dissolved in 1806 – Confederation of the Rhine:

g. Napoleon defeat’s Prussia in 1806, ending Third Coalition:

2. How did the great Napoleonic Empire begin to reach its apex? Where was its “Achilles heel”?

a. Treat of Tilsit:

b. Continental System:

c. Grand Duchy of Warsaw:

d. Talleyrand:
3. Describe the organization of the Napoleonic Empire.

a. Dependent states (Family members):

b. Allied states:

c. Conquest with occupation:

d. Enlightened forms spread:

e. Church power weakens:

f. Metric System introduced:

g. Governmental bureaucracies replace tax farming:

National Movements: Germany

1. How did nationalistic movements rise in opposition to the Napoleonic order?

a. Reaction to Continental System and occupation inspires Nationalism:
2. What was the response in Germany? How did cultural nationalism become political?

a. Rebellion:

i. Against Napoleon

ii. Against Enlightenment

b. Romanticism:

i. Beethoven, Kant, Hegel

c. Volk (Volksgeist) or National Character:

d. Countering Enlightment’s internationalism:

3. How did the Prussian state transform in response to Napoleon?

a. Defeats inspire reaction:

b. Less corrupt, less French influenced, Prussia rises as leading Germanic state:

c. Military reformers:

4. Why was the invasion of Russia so important?

a. Alexander I disillusioned with Napoleon:

b. Withdrew from Continental system (1810):

c. Scorched earth vs. The “Grand Army”:

d. British support with money, Prussia and Austria switch sides:

5. How did the Napoleonic regime end, and what government took its place?

a. Restoration:

b. Quadruple Alliance:

c. Louis XVIII:

d. Retained legal equality & church relations:

6. What settlement occurred at the Congress of Vienna?

a. British emerge as dominant power:

b. Restoration of the Balance of Power:

c. Congress Poland:

7. How did Napoleon manage to return to power and why was he unable to hold it?

a. White terror:

b. Escape from Elba:

c. Duke of Wellington – Waterloo:

d. Quadruple Alliance confirmed:
e. Holy Alliance formed:

8. What were the long-term results of the Congress of Vienna?

a. Most significant since Westphalia (1648):

b. Not punitive of France:

c. Britain as superpower:

d. Germany disappointed:

e. Nearly century with no major war:

f. Congress System established:

i. Defense of the Conservative order:

Industries, Ideas, and the Struggle for Reform (1815-1848)
The industrial Revolution in Britain

1. What does the term Industrial Revolution mean?

a. Human/animal work vs. Machines powered by energy (1800 as turning point):

b. Mobility of labor & capital:

2. How did changes in agriculture in Britain set the stage for industrialization?

a. Great landowners & Merchants (Squirearchy):

b. Agricultural Revolution:

1. Desire to increase productivity:
1. Fertilizers:
2. New implements:
3. New crops & crop rotation:
4. Breeding:
c. Open Field System:

d. Enclosure Movement:

1.  Fewer people needed to work:

2.  Mobile labor force:

3. What incentives were there for factory production, and what inventions made it possible?

a. England’s supremacy of seas – demand for cotton:

b. Inventions:

1.  Flying Shuttle:

2.  Spinning Jenny:

3.  Water Frame:

4.  Steam Engine:

c. Mobile work force come to the work vs. putting-out:

d. Cotton: Eli Whitney’s Cotton Gin (1793):

4. What was the revolutionary impact of the steam engine?

a. Timber supply declines – need for steam power grows:

b. Newcomen – Watt – Fulton:

1.  The “Rocket”:

2.  Railroad:

5. What impact did early industrialization have on society and people’s lives?

a. Population rose:

b. Manchester:

c. New Cities (conditions):

1.  Drab, dirty, housing:

d. Family life suffers:

e. Unskilled labor:

f. Artisans lose income & status:

g. Factory Act in 1802 (enforced?):

h. Urbanization – higher concentration of visible poor – development of class solidarity:

6. What were the ideas of the laissez-faire economists?

a. Adam Smith expanded:

b. Malthus & Ricardo (“Iron law of wages”):

c. Economy by “natural law”, self-regulating:

The Advent of the “Isms”

1. Romanticism:

a. Reaction against Enlightenment & Reason:

b. Literary & Artistic:

c. Focus on personal, mysterious, exotic, inexplicable via reason:

d. Gothic revival:

e. Politically of all stripes:

2. How were classical liberals and other liberals distinguished from each other?

a. Classical Liberalism:

1.  Universal rights & liberties:

2.  Enlightened:

3.  Reason & self-control:

4.  Laissez-faire:

5.  Businessmen/professionals:
6.  Property rights

7.  Religious toleration:

8.  Strong education system – so people can examine & challenge government:

9.  Great Britain as model:

3. What did the proponents of radical change want in the early nineteenth century?

a. Radicalism (Middle-class rights should expand to lower classes):

1.  Jeremy Bentham:

1. Reevaluation of every aspect of society:

b. Republicanism (Radicalism on the Continent):
1.  Intelligentsia:
2.  Secret societies:

c. Socialism:

1.  Focus on injustices of economic system:

2.  Challenged private enterprise:

3.  Robert Owen:

4. Saint-Simon & Fourier:

1. Planned society – public ownership:

5. Louis Blanc:

1. “Social workshops”:

4. What were the arguments of early feminism in supporting rights for women?
a. To expand “rights of man” to women:

b. Civil & voting rights:

c. Family law:

d. Equal in reason:

e. French Feminists:

1.  Social, cultural, legal rights rather than political ones.

f. English & American Feminists:

1.  Women’s suffrage (Seneca Falls Declaration):

2.  John Stuart Mill – Harriet Taylor (The Subjection of Women):

g. Socialists encourages women into public life:

1.  Journals:

2.  Writers:

5. How did nationalism differ in Western & Eastern Europe?

a. Nationalism – Most pervasive “Ism”:

b. Western Europe (Spain, England, France):

1.  Cultural mixed with Patriotism:

c. Un-unified States (Italy, Germany, Poland):
1.  State-building agenda:

2.  Political action:

3.  Threat to established order:

4.  Secret societies (Carbonari):

5.  Mazzini:

6.  Brothers Grimm:

7.  Hegel’s “Dialectic” (Thesis – Antithesis – Synthesis):

d. Eastern Europe (Hungary & Poland):

1.  Cultural focus toward political independence:

2.  Slavophilism - Distinct Slavic culture (Pan-Slavism):

3.  Palacky (A history of the Czech People):

e. Conservatism:

1.  Strong presence everywhere:

2.  Humanitarianism:

1. No torture:

2. Improved conditions for ill, insane, poor:

The Dike & The Flood: Domestic

1. How did the governments of Europe try to hold onto the post-Napoleonic settlement?

a. Compromise:

1.  Reactionary forces – Right prosecutes, Left demands change:

b. White Terror in France:

1.  Murder of Louis XVIII’s nephew

2.  Charles X – reacts to restore absolute monarchy:

c. Poland:

1.  “Liberal” Tsar Alexander I – grants elected Diet:

d. Germany:

1.  Burshenschaft:

2.  Carlsbad Decrees:

e. Britain:

1.  Corn Law:

2.  Six Acts:

3.  Peterloo Massacre:

The Dike & The Flood: International

1.  How did the Congress System seek to maintain the settlement of the Congress of Vienna? To what degree was it successful?

a. Holy Alliance:
b. Aix-La-Chapelle (1818):

c. Troppau (1820):

1.  Metternich persuades Alexander to abandon liberalism:

d. Verona (1822):

1.  Yipsilanti vs. Ottoman rule:

e. Latin American Colonies:

1.  Creoles:

2.  Monroe Doctrine:

f. Collapse of Congress System:

1.  National interests override:

2.  Liberalism left to grow:

g. Decembrist Revolt (Russia):

1.  Suppressed liberal revolution, new Tsar Nicholas I:

The Breakthrough of Liberalism in the West

1. What happened when the revolutionary dike broke in the early 1830’s?

a. Greek Independence

1.  British, French, Russian support:

2.  Balkan states, Egypt gain autonomy:

b. France:

1.  Strong reaction against Charles X:

2.  July Ordinances:

3.  Charles abdicated:

4.  Lafayette produced compromise in Duke of Orleans

1. Louis Philippe – “King of the French”

2. Tricolor flag vs. Bourbon white

c. Belgium & Poland:

1.  Inspired from Paris, declare independence:

2.  Poland repressed by Russian Empire:

3.  Belgium granted per neutrality & guaranteed protection by treaty:

d. Great Britain:

1.  Tory leaders – reduced tariffs, limited Navigation Acts, equal rights to Dissenting protestants and Catholics.

2.  House of Commons – unrepresentative apportionment:

1. Great Reform Bill of 1832:

a. New & realigned districts:

b. Expanded suffrage:

c. Poor Law of 1834:
d. Factory Act of 1833:

e. Repeal of Corn Laws:

The Triumph of the Western European Bourgeoisie

1. What were the political and social ramifications of the changing economy?

a. Bourgeoisie & Working class estranged:

b. Classical Economists - (Poor Law of 1834):

c. Labor Unions:

d. Socialism:

1.  France: Louis Blanc - “Social Workshops”:

2.  England: Chartist Movement:

Revolutions & The Reimposition of Order (1848 – 1870)
1. How did the Second French Republic navigate political & economic reforms?

a. Repression of 1830 revolutions – increases republicanism & socialism in France:

b. Louis Philippe:

1.  Bans planned banquet:

2.  Barricades

3.  King abdicates:

c. Republic (ten-man provisional govt):

1.  Louis Blanc:

1. “Social Workshops”:

2. Unemployment goes beyond S.W. capacity:

2. Constituent Assembly:

1. Canceled workshops:

3.  June Days:

1. General Cavaignac:

2. Class war:

4. Napoleon Bonapate (Napoleon III) elected president:

1. Monarchists (1849):

a. Restictions on Freedom:

2. Emperor Napoleon III (coup, Dec. 1851):

The Nationalist Revolutions in Central Europe & Italy

1. What were the issued in the various parts of Austrian Empire that experienced revolution in 1848?

a. Multicultural:

1.  Slavs, Hungarians, Italians, Romanians, more…

b. Metternich resigns – Workers riots:
c. Hungary obtains constitutional separation:

1.  Louis Kossuth:

2.  Pan-Slav Congress:

d. Common Demands:

1.  Constitutional governments:

2.  Freedom for nationalities (cultural nationalism):

3.  Civil liberties:

4.  Abolition of Serfdom:

2. How and why did the revolutions fail?

a. Tide turns in June:

1.  Factions divided among themselves:

2.  Armies run by old aristocracy – soldiers of peasant class:

b. Austria:

1.  Prague revolt crushed with Austrian military:

2.  Second revolt in Vienna crushed:

3.  Emperor abdicates – favors Franz Joseph to ensure victory of counter-revolution:

4.  Mazzini – Revolt in Italy – Pope flees:

5.  French troops drive out Mazzini, restore pope:

6.  Pope turns “Syllabus of Errors”:

7.  Bach System:

Frankfurt & Berlin: The Question of a Liberal Germany

1. Frankfurt Assembly:
a. Plan to unify Germany – liberal, constitutional state:

b. Dependent on the very states they hoped to replace:

c. Prussia:

1.  Economically mercantilist:

1. Zollverein:

2. Frederick William IV: 

d. Middle Class Delegates:

1.  Liberal, peaceful, rational:

2.  Prussian army to suppress riots:

3.  Lost popular support:

e. Great Germans:

1.  Support all German state including Austria:

f. Little Germans:

1.  Multi-ethnic Austria should be excluded:

g. Declaration of the Rights of the German People:

1.  Constitution based on “Little German” model:

2.  Frederick William rejects crown as limited monarch:

3.  Emigration:

The New European “Isms”: Realism, Positivism, & Marxism

1. What new attitudes came about as a result of the failure of the 1848 revolutions?

a. Abolition of serfdom & manorial obligations in Austria & Prussia:

b. Political realism born:

c. Materialism:

1.  All ideas originated in physicality:

2.  Realism (artistic movement) expresses this concept:

3.  Sociology:

4.  Positivism:

d. Realpolitik:

1.  Germany:

1.  War is a legitimate, strategic option – tool for state policy:

2. How did Marx & Engels conceptualize history and the social & economic problems of their societies?

a. Communist League:
b. Communist Manifesto (1848):

c. Three Elements:

1.  Hegelian philosophy:

2.  French revolution:

3.  Industrial revolution:

d. Communism:

1.  Alienation of workers:

2.  Abolishment of private ownership:

3.  Class gap widens:

4.  Loyalty to class vs. state:

e. Dialectical Materialism:

1.  Technology, natural resources, economic structures shape events & history:

2.  Class warfare is inevitable:

3. “Dictatorship of the proletariat”:

f. Scientific Explanation for existing social conditions:

1.  Problems:

1. Religion - People want it – Marx does not:

2. Unions and parties offer ways to address grievances:

3. Workers have stake in the state – less inclined to overthrow:

3. How did Napoleon III modernize France?

a. Authoritarian regime:

b. Redesigning & embellishing Paris:

1.  Wide streets – new parks, why?:

c. Railroads quintupled:

d. Suez Canal:

e. “Limited liability”:

f. Labor Unions – Corporations grew:

g. Asylums & medicine improve:

4. Why did the Bonapartist regime begin to fail?

a. Abandoning Protectionism:

b. Helping Piedmont:

c. Belligerent foreign policy:

1.  Crimean War:

2.  Prussian War (1870):
The Global Consolidation of Large Nation-States 1859-1871
The Idea of the Nation-State
1. What is a nation-state, and how can it be created?

a. Common history (real or imagined):

b. Common culture (language, food, music, religion):

c. Collective destiny:

d. Nationalism:

1. Enhanced bond between governed and government:

i. Austria & Ottoman Empires

2. War – Method of achieving bond

i. Three wars of German Unification:

ii. Italian Unification:

3. Crimean War:

i. Weakened both Russia and Austria – allowed national movements to succeed

ii. France & Great Britain’s roles:

iii. Ottoman Empire fate:

iv. Florence Nightengale:

The Unification of Italy 

1. How did Piedmont take charge of the Italian independence movement?

a. Mazzini’s “Risorgimento” (Resurgence) movement:

b. Cavour:

i. Joined Crimean War to win French help against Austria

ii. French make separate peace with Austria
iii. Napoleon III recognizes Italy in exchange for Nice & Savoy

c. Garibaldi – Redshirts

i. Sicily & Rome – march from the south

ii. Declared Victor Emanuel II, King of Italy

iii. Venice & Rome added in 1866 & 1870

2. What were the chief problems in Italy after unification?

a. Rift between Catholic church and Italian State:

b. Industrial North vs. Agrarian South:

c. Limited suffrage:

Foundation of a German Empire & the Dual Monarchy of Austria-Hungary

1. How did Prussia forge German unification?
a. Central Europe power vacuum:

b. Inspired by Herder & Hegel – Stressed German superiority over individual liberty:

c. Rapid industrialization:

d. Weaker political liberals after 1848:

e. Population and modern growth = need for larger army = need for new taxes

f. Realpolitik:

i. Bismarck (Chancellor, 1862): ignores Prussian Diet and raises taxes for army

ii. “blood & iron” vs. discussion & votes:

iii. WAR - Danish Conflict:

1. Joined with Austria

2. Increased tensions with Austria

3. Knows British, Italian & Russian’s won’t get involved – War with Austria

4. Seven Weeks War

iv. North German Federation:

v. Bismarck seeks war with France to win Catholic Southern states:

1. Dynastic conflict in Spain

2. Alters telegram – France declares war:

3. Italians take Rome as French pull out to engage Germany:

4. Russians put navy into Black Sea

5. Napoleon III captured

6. Alsace/Lorraine to Germany

7. German Empire Proclaimed at Versailles, 1870.

2. What were the defining characteristics of the new German state?

a. Strongest on continent – fastest economic growth

b. Prussia dominated smaller states within Germany

3. How did Austria fare after its defeat to Prussia in 1866?

a. Multicultural challenges:

b. Centralization program:

i. Enforced the abolition of serfdom

ii. Built rail roads

c. Dual Monarchy:

i. Kingdom of Hungary (Magyars):

1. Common Emperor, finance, military, foreign

2. Own parliament, laws, language

ii. Slavs lose out

Liberalization in Tsarist Russia: Alexander II

1. What impact did the Crimean War have on Russia?

a. Look to west to modernize after weakness realized:
b. Autocratic (rule by decree):

c. Liberal ideas:

a. Serfdom:

b. Intelligentsia (educated class) articulated grievances & proposed alternatives

c. Emancipation Act of 1861:

i. Serfs free but with redemption payments

ii. Aristocracy benefited from this emancipation

d. Freedom on press:

e. Legal reforms along western models:

2. In what ways did a distinctive revolutionary movement develop in Russia?

a. Intelligentsia seeks new solutions to national problems:
i. “nihilists” – political movement seeking socially just society:

1. destroy existing one via terrorism

ii. Anarchists:

iii. People’s Will – assassination of Alexander II

iv. Alexander III abandons reforms – repression returns

European Civilization, 1871 – 1914: Economy & Politics
The Modern “Civilized World”

1. What were the characteristics of European civilization in the nineteenth century?
a. Western Europe “Inner-zone”, lived materially better than ever before

i. More food (better diet):

ii. Cloths:

iii. Comfortable homes:

iv. Sanitation:

v. Technology:

vi. Dropping infant mortality:

2. Where was this European Civilization in evidence?

a. “Inner zone” – Railroads: (Britain, Scotland, France, N. Italy, Germany, W. Austria)

b. “Outer zone” – Agricultural based: (Ireland, Spain, E. Austria, E. Germany, S. Italy, E. Europe)

c. “Backward” – Outside Europe: Asia (except Meiji Japan) & Africa

The Increase of the Europeans

1. How much and why did European population increase in the nineteenth century and then stabilize in the next?
a. Fewer wars (civil & foreign):

b. End of plague & smallpox vaccine:

c. Agricultural & transportation improvements:

d. Sanitation:

e. 1870 – Germany displaces France as most populace

f. Reduced birth-rate:

i. Fewer babies needed to support family – family size drops

ii. Later marriage – fewer children – lower poverty rate

iii. Contraceptive:

iv. Urban life – crowded

v. Legal requirements for education = children became expensive

2. How did cities and city life change in the late nineteenth century?

a. Railroads:

b. Literacy – better informed public

i. Newspapers:

ii. New ideas (Socialism):

iii. Traditional authority (aristocracy) waned:

3. Why did so many Europeans leave Europe in the late nineteenth century?

a. 60 million leave (1/5 returned) from 1850-1900

b. “Carrot” – 

i. need of new countries for greater population

ii. inexpensive new transportation (steamship)

iii. legal freedoms by liberalizing regimes

c. “Stick” – 

i. unexpected changed (declines) in business cycle

ii. Famine (potato famine in Ireland):

iii. Political failures (Revolutions of 1848):

iv. Persecution (Russian & Polish Jews):

The World Economy of the Nineteenth Century

1. How was the Second Industrial Revolution different from the first?

a. Electricity (2nd) vs. Steam (1st) as main power source:

i. Telephone:

ii. Entertainment – film & radio:

b. Oil - Transportation:

i. Internal combustion engine – cars & planes:

c. Chemicals – 

i. fertilizers 

ii. artificial food

iii. synthetic fabric

d. Steel – Bessemer process expands production

e. Britain

i. Free trade

ii. Repeal of Corn Laws

f. France

i. Protective tariffs

g. Imports greater than exports

h. “Invisible Exports”

i. Shipping

ii. Insurance

iii. Interest from loans

i. Business

i. Move from small family businesses to giant corporations (impersonal)
ii. Profit motive must be kept in check (rise of social and govt. involvement)

iii. Middle class becomes salaried employees

iv. Feudalistic in its hierarchical, centralized structure

The Advance of Democracy: Third French Republic, United Kingdom, & German Empire

1. Why was the Paris Commune important for the foundation of the Third Republic in France?

a. Bismarck lifts Paris siege in 1871 – elections allowed

b. The Commune: radically republican

i. Price controls

ii. Govt. protection of workers

iii. Socialists & Marxists view it as first step of Socialist revolution

c. National Government defeats Paris Commune – THIRD REPUBLIC born

i. President, cabinet, Chamber of Deputies

2. What ailed the French’s Third Republic?

a. Division between Monarchists & Republicans

b. Dreyfus Affiar:

c. Socialists/Republicans split with Pope

d. France lagged behind Germany & Britain in industrial development:

e. Arts, sciences, letters flourished

3. How did Britain become more democratic in the period before World War I?

a. Queen Victoria:

i. General progress

ii. Political stability

iii. Literary flourishing

iv. Overall prosperity and calm

b. Conservatives (Tories) – Liberals (Whigs) – both represent the wealthy

i. Tories: landed aristocracy
ii. Whigs: commercial/industrial interests

iii. Disraeli: Conservative leader – suffrage doubles to include most workers

1. Regulation of working and housing conditions

iv. Gladstone: Liberal leader – first Public Education act, 1870

1. Legalized labor unions

2. Secret ballot

3. No religious tests
c. Labour Party (after 1900)

i. David Lloyd George:

1. Social welfare (Sickness, accident, old age, unemployment insurance):

2. Proposed inheritance & income taxes to pay for new programs:

3. House of Lords Power reduced to pass new legislation

4. Why was the Irish question so troubling in this period?

a. Fear of Ireland’s disloyalty during French Revolution – England incorporates into UK:
b. Gladstone: disestablishes Church of Ireland (Anglican)

c. Irish Home Rule: Gladstone supported, split his party – granted in 1914 (suspended till 1922):

5. How did universal manhood suffrage affect politics in the new German Empire?

a. Germany – Federal State: ministers responsible only to Kaiser
b. Domestic Battles – Chancellor Bismarck:

i. Kulturkampf: opposed Catholic church

1. Restricted Catholic influenced in education

2. Jesuits expelled

ii. Anti-Socialist Laws:

1. Opposed newly formed German Social Democratic Party (SPD)

2. Made their meetings and papers illegal

3. Result: emboldened opposition

iii. Wilhelm II – dismisses Bismarck

1. Foreign policy more aggressive

2. Domestic policy more conciliatory

European Civilization 1871-1914: Society & Culture

The Advance of Democracy: Socialism, Labor Unions, & Feminism

1. How did workers organize themselves in opposition of liberal economics and its optimistic view of capitalism?
a. Trade unions – alternative to radical changes

i. Workers tend to support

ii. Intellectuals (Marx, Blanc, Lassalle, etc.) support Socialism – broader vision of change

b. Trade unions win legal recognition in Britain, France, Germany (1850’s)

c. Mass Strikes:

i. Union of unskilled workers

ii. Great London Dock Strike:

iii. British unions highly effective – formation of political party is delayed to 1900.

2. How was European socialism changed by political and economic developments after 1870?

a. First International:

i. Marx leads:

b. German Social Democratic Party:

c. Production rises – wages improve – prove Marx theory false

d. By 1914 – political gains temper revolutionary aspects for workers

3. How did women and feminists organize for their rights in this period?

a. Britain & USA: Education & Suffrage

b. Continent: Legal and social rights

i. Militant sabotage, hunger strikes

ii. Voting rights in 1918, soon after in Germany & USA
Science, Philosophy, The Arts, & Religion

1. How did important new ideas in science change human understanding of themselves?

a. Darwin – Origin of Species (1859)

i. Natural selection – chance mutations:

ii. The Descent of Man – applied evolution to humans:

iii. Earth & animal interconnected

1. Philosophical & Historical theories

a. Hegel:

b. Marx:

c. Spencer:

b. Evolution accepted quickly

i. Realism:

ii. T.H. Huxley:

c. Social Darwinism

i. Applied to capitalistic economies:

ii. New racial ideas:

1. Result of exploration – “relativism” of mores and morals

2. Skepticism of universality of truth & experience

3. More race conscious

iii. Nationalism:

1. Ethnic – throughout Europe

2. Anti-Semitism wave in late 19th century fuels Jewish nationalism

a. Dreyfus Affair – France

b. Pogroms (organized killing of minority) – Russia

c. Herzl’s solution: assimilation not possible, call for Jewish State in Palestine.

d. Jews Debate: Which more important, faith of nationality?

d. Anthropology:

e. Psychology:

i. Pavlov:

1. Some behavior is learned, not instinctive

ii. Freud:

1. Role of unconscious mind in conscious behavior

a. Repressed memories from childhood

b. Biological instincts (sexuality)

2. Method: Psychoanalysis – to reach unconscious mind

a. Dream analysis

b. Free association

c. When repressed memories released, ailments disappear

f. Physics:

i. Becquerel:
1. Radioactivity

ii. Max Planck, Niels Bohr

1. Electron & quantum units of energy

iii. Einstein

1. Theory of relativity:

a. Time, space, and motion are not absolute but relative to the position of the observer.

2. Unified field theory: E=MC2
2. How did philosophy and the arts respond to the new science and its new values?

a. Evolution = Human evolution’s goal was freedom

i. State should not interfere with natural processes

b. Literature:

i. Realism & social criticism

1. Emile Zola – novels

2. Henrik Ibsen – plays

c. Artists: to represent inner thoughts with color & shapes

i. Post-impressionist

1. Distant from society

2. Represent themselves, not society

3. Van Gogh 

ii. Cubism

iii. Expressionism

3. How did organized religion respond to these intellectual and cosmological changes?

a. Modern scholarship techniques applied to Bible – treating it as secular historical document
b. David Strauss’s Life of Jesus
i. Challenged miracles attributed to him
c. Church Council: first in 300 years

i. Confirmed 1864 Syllabus of Errors

ii. Reinforced “papal infallibility

iii. Conservatives drawn back to the church

The Waning of Classical Liberalism

1. How did liberalism change in response to these intellectual and social trends?

a. 20-Year Depression – movement away from Laissez-faire

b. Neomercantilism (economic nationalism):

i. Enlarged government role in private spheres

c. Liberalism based on rationality of man, shaken by Darwin, Freud, Pavlov, casting doubt on premise.

d. Life was of struggle, violence, emotion

e. Relative long period of peace.
Europe’s World Supremacy, 1871 - 1914
Imperialism: Its Nature & Causes
1. What distinguished the new imperialism?

a. Modernization – World Economy:

i. Unequal – Western nations benefit at expense of traditional societies:

b. Western ideas influence into modern period
i. Democratic or Marxist nations develop around the world

c. Competitive - Expansionist

i. Dutch – Java

ii. French – Algeria

iii. Britain – India

iv. Scramble for Africa

d. New Imperialism

i. Control of native economy

ii. Invested capital (mines & farms)

iii. Organized production for export – local populations become wage earners

iv. Direct control, or “spheres of influence”

e. Military Power Enables

i. Machine gun

ii. Wealth to fund military campaigns

iii. Medicines to resist foreign disease

2. Why did the new imperialism happen when it did?

a. General Motives
i. Missionaries - Anti-Christian attacks:

ii. Scientific Research:

iii. Exotic Travel:

iv. Economically dependent on imports from Asia & Africa

v. New markets – due to economic competition resulting from industrialization

vi. Cheap labor – highly desires products
b. Debate:

i. Hobson & Lenin

1. Accumulation of surplus capital was main motive

2. Deprived workers of their fair share – resulting in revolt (Marx theory)

ii. Others Oppose

1. Need for guaranteed sources of imported goods was main motive

2. European capital was in high demand by non-European rulers

c. National Security

i. Maintain Balance of Power:

ii. Prestige:

1. Joseph Chamberlain – needed to promote general prosperity

3. Describe how the new imperialism was a crusade.

a. “The White Man’s Burden”

i. Bringing benefits of civilization and modernity to Asians and Africans.

ii. Assumed European cultural and racial superiority

iii. Social Darwinists:

iv. Humanitarianism / greed:

The Dissolution of the Ottoman Empire

1. What caused the manifestations of the weakness of the Ottoman Empire in the late nineteenth century, and how did the Turks try to deal with them?

a. Huge, multinational empire – majority Muslim

i. Minority religions had rights, own hierarchies, laws, courts – higher taxes

ii. Neither secular nor nationalistic

b. The Sick Man of Europe

i. Lost Hungary (1699):

ii. Greece, Serbia, Romania – independent in 19th century

iii. French occupy Arabia & Egypt

iv. Result: Increased tensions among Euopean powers – suspicious of each others ambitions

c. Crimean War

i. Won with European help

ii. Western Reforms Followed:

1. Ottoman Citizenship

2. Equality before the law

3. Separation of church and state

4. Tax reform

5. Prison reform: no more torture

6. Free press

7. Railroad (with foreign loans)

iii. Abdul Hamid II (1876-1909)

1. Initial Parliamentary government

2. Initial individual rights

a. Would rule autocratically with brutal suppression

d. Balkan insurrection

i. Russia declares war

1. Desires Bosporus – Pan-Slavic ideals

ii. Britain defense the Suez Canal

iii. Result: European powers take more control over areas of Ottoman Empire (except Germany)

2. How did Egypt and N. Africa fall under European control in the nineteenth century?

a. American Civil War

i. Interrupts cotton trade with US

ii. Egyptian cotton in high demand

b. Borrowed money from Europe

i. Suez Canal & Railroads

ii. Received British military protection

c. French Counterbalance

i. French take Algeria, Tunisia, Morocco
ii. Germany & Britain both suspicious of French ambitions

The Partition of Africa

1. Why was Africa opened to the West and how was this accomplished?

a. “Dark Continent” – little known to the West

b. Private individuals

i. Stanley & Livingstone – Belgians in the Congo

ii. Economic exploitation

iii. Within 15 years all Africa was claimed (except Liberia & Ethiopia)

2. How did the scramble for Africa affect the relations among the great powers?

a. African resistance:

b. Armed conflict among main powers – benefits smaller ones (Spain/Italy):

c. British Boer Wars (1899)

i. Gold discovered among African settlements

ii. British fight settlers, concentration camps, etc.

iii. 3 years to win – some local autonomy granted

iv. 1910 – Union of South Africa forms (dominion like Canada)

v. Britain actions unpopular in Europe – foreign policy changes

Imperialism in Asia: The Dutch, The British, and The Russians

1. In what ways were British India and the Dutch East Indies (Indonesia) ideal colonies?
a. Rich in resources:

i. Workforce – able & energetic:

ii. Benevolent despotism:

b. Dutch in Indonesia

i. “The culture system”: quotas of crops demanded

ii. Encouraged education in native language – preserving native culture

c. Indian Mutiny (1857):

i. Conflict over Religion, land ownership, local rule:

ii. Brutal repression by British

iii. British policy shift to collaboration with Indian upper class – state protectorates:

iv. English speaking elite class created

2. How did imperialism in Asia complicate relations among the European powers?

a. “Great Game”

i. British & Russian competition for control

1. Russia: warm-water port in Persia

2. British: protect their route to Afghanistan & India

ii. British invest heavily in Persia

1. After 1900, Oil became important resource

Imperialism in Asia: China and the West

1. Why was China the prized colony in Asia?

a. The Qing (or Manchu) dynasty, falls in 1912
i. Rebellions lead to suppression, 20 million killed

ii. Political power to warlords

b. Opium War

i. British obtain Chinese trade via Indian-grown opium

1. No demand in China for British goods

2. China tries to stop, British use force to allow it to be imported into China

3. “Treaty system” 

a. Chinese ceded territories: (Hong Kong leased as “treaty port”)

b. trading privileges to Britain

c. Legal rights to foreigners

ii. Japan becomes imperialist

1. 1894 – war over Korea

2. China cedes Formosa and Liaotung Peninsula to Japan

iii. Russia fears Japanese interests in Manchuria:
iv. Partitioning of China continues with France:
v. US “Open Door Policy” – demanded all foreigners have trading rights:
The Russo-Japanese War

1. What were the issues in the Russo-Japanese War? Why was the war important?

a. Russia & Japan competed over Manchuria & Korea

i. Markets & resources:

ii. Japanese military alliance with Britain:

iii. Russian government sought diversion from tensions at home

iv. To protect Russian railway

b. 1904, Japan attacks Russian installations at Port Arthur

i. Treaty of Portsmouth – Japan wins Port Arthur & Korea

c. First war where European power lost to a non-white nation.

2. What were the consequences of the Russo-Japanese War?

a. Russian government shifts attention back to Europe: Balkans

b. Weakened the Tsarist Government

i. Led to Revolution of 1905

c. Japan’s victory inspires other non-white nations

i. Importing Western technology, science, industry

ii. Preservation of culture

iii. Rid themselves of European control in 20th century

The First World War

The International Anarchy

1. How did militarism and the arms race create an atmosphere for war?

a. Huge standing armies:

b. German unification

i. Industrial success:

ii. Balance of power shift:

iii. “Place in the sun”:

c. Bismarck’s Foreign Policy – to prevent a 2 front war

i. Dual Alliance: to isolate France

ii. Triple Alliance: now included Germany, Austria, Italy
iii. Bismarck is dismissed – France forms alliance with Russia

d. British “Splendid Isolation”

i. Naval arms race with Germany:

ii. Move toward alliances with Japan, France (entente cordiale) & Russia

2. How did crises in Morocco and the Balkans set the stage for war?

a. Germany tests the entente cordiale

i. Sends warship to French colony of Morocco

ii. England stayed with France, Austria supported Germany

b. Second Moroccan crisis, 1911 – increased British opposition to Germany

c. Balkans (1908)

i. Austria annexes Bosnia-Herzegovina

1. Religious divisions:

a. Serbs & many Bosnians – Orthodox (Cyrillic script)

b. Slovenes and Croats – Catholic (Roman alphabet)

2. Russia weak, gains concessions from Austria to avoid war

3. Serbia infuriated by the annexation

3. How did the third Balkan crisis lead to a general war?

a. Black Hand – Bosnian revolutionary society assassinates Austrian Archduke Francis Ferdinand
i. Austria sees chance to crush Serbian independence

ii. “Blank check” from Germany

iii. Ultimatum issued: mainly accepted except for sovereignty demands

iv. Austria declares war – mobilizes

v. Russia mobilizes in response

vi. Germany demands Russia rescind the mobilization order – no reply

vii. Germany declares war on Russia – two days later, on France

1. Expected France to honor alliance with Russia

2. Schlieffen Plan – required attack on France before Russia

viii. British enter when neutral Belgium invaded by Germany

b. Resulted from intense national competition in world economy

i. No method to adjudicate conflicts

The Armed Stalemate

1. Why did the war become a stalemate on the Western Front?

a. Schlieffen Plan: secure western front with quick victory of France

i. Russians invade E. Prussia immediately

ii. General Moltke withdraws troops from France to send East
iii. Battle of the Marne ended in German retreat, while victories in East

b. Trench Warfare

i. 1,000 mile front, mostly in France & Belgium

ii. Machine gun – great advantage to defense

2. What efforts were made to break the stalemate?

a. 1915 – Germany/Austria invade Russia hoping to knock them out first

i. Despite 2 million men lost, Russia battles on

b. British & French attack Constantinople:

i. Knock out Ottoman Empire, attack Germany from East

ii. Failed at battle of Gallipoli

c. British engage at the Somme:

i. Tank introduced

d. French engage at Verdun (under Petain)

e. Naval Warfare

i. Allies declare new international law

1. no distinction between contraband (military supplies) and non-contraband (food-stuffs)

2. US protests, upholds “freedom of the seas”.

3. Germany counters with Unrestricted Submarine Warfare

4. Lusitania sunk, 1915

5. Naval battle of Jutland, 1916 – British victory

f. Allied Provocations

i. Secret Treaty of London

1. Italy joins allies when offered parts of Austria after war

ii. England & France agree to divide Ottoman Empire
1. T.E. Lawrence (Lawrence of Arabia)

a. Helps Arabs establish independent kingdom, 1916

iii. Balfour Declaration, 1917

1. Jewish homeland in Palestine to be established:

iv. Stage set for later Arab-Zionist conflict, post-WWII

g. Allies promise independence to Poles, Czechs, Slovaks, etc.

h. German Provocations

i. German’s urge a Jihad (holy war) in Egypt against Britain

ii. Easter Rebellion

1. Germans urge Ireland to rebel – revolution crushed

2. Increases Irish / Anglo tensions

iii. U.S. – Mexican dispute

1. Zimmerman telegram:

i. Ottoman Empire

i. Genocide of Armenians, 1915:

j. Japan declares war on Germany, supporting its ally the British

i. Seize German colonies in China and Pacific

k. ALL WILL COMPLICATE PEACE CONFERENCE IN PARIS, 1919

The Collapse of Russia & the Intervention of the United States

1. Why did Russia withdraw from the war? Why did it matter?
a. Incompetent government:
b. Revolution of 1917 – Tsat abdicates:

c. Bolshevik coup d’ etat:

d. Treaty of Brest-Litovsk:

e. Germany now has single front war:

2. Why did the United States enter the war, and how did they help turn the tide?

a. Why side with the Allies:

i. Economic ties to allies:

ii. Moral cause (democratic vs. Imperial states:

iii. Unrestricted submarine warfare:

iv. Zimmerman telegram:

b. French mutiny after Nivelle offensive:

c. US men, food, munitions added

i. Total war: factories re-tooled, rationing on home front

d. German sue for armistice

i. November 11, 1918

1. 10 million dead, 20 million wounded

The Collapse of the Austrian & German Empires

1. How did the Austrian & German Empires collapse?

a. Oct 1918, subject nationalities in Austria declare independence:

i. Austria & Hungary become republics

b. Germany becomes constitutional monarchy, then sues for peace:

c. The Weimar Republic (November 9, 1918)

i. Mutinies, general strikes, lead to Kaiser to abdicate

ii. Victors (Wilson) had demanded Germany become democratic

d. War fought OUTSIDE of Germany

i. No occupation force – leads Germans to question their loss

Economic, Social, & Cultural Impact of the War

1. What were the long-lasting changes in society produced by the war?

a. Laissez-faire capitalism replaced by “planned economy”

i. Production & distribution needs via war, encouraged:

b. Women’s roles change – took men’s places in factories

c. US ceased to be a debtor nation – Europe owed the US $10 billion

d. Rapid inflation

i. Governments sold bonds to pay for war

ii. Huge national debts formed

e. Industrialization outside Europe encouraged

i. Japan, US, Argentina, Brazil, India

f. Censorship & Propaganda

g. Rise of cynicism:

i. Freud:

ii. Spengler (The Decline of the West):

The Peace of Paris, 1919

1. How did the victors negotiate the peace settlement?
a. Fear of Bolshevik revolution spreading to new republics (which were feared unstable)

i. Austria, Hungary, Czechoslovakia, Germany, Poland

b. Five treaties

i. Treaty of Versailles with Germany:

c. American President Wilson:

i. 14 points (Idealistic)

ii. End secret treaties

iii. Freedom of seas

iv. Self-determination for nationalities

v. League of Nations

d. French (Clemenceau), British (Lloyd George) demands:

i. France to control Rhineland

ii. Coal mines in the Saar

iii. US & Britain sign agreement to defend France from Germany

e. Poland reconstituted – buffer between Germany & Russia

f. Austria reduced in scope, republic, forbidden to join Germany

g. Creation/Acknowledge of 7 new states

i. Romania & Greece – to prevent spread of Bolshevism

h. Turkey (republic) created to replace defunct Ottoman Empire

i. Ottoman Arab territories allotted to France & Britain

1. Syria, Lebanon under French

2. Iraq, Palestine under British

2. How was Germany treated in the peace settlement?

a. Lost all colonies:

i. Japan takes over Germany colonies in China

ii. Self-determination principle ignored when inconvenient

1. Vietnam returned to French – Ho Chi Minh sought independence in Paris

b. Army reduced to 100,000, no submarines or air force

c. Reparations: severe (last payment to allies received in 2010)
d. ”War Guilt Clause” – Germany accepts all responsibility for the war
i. Source of rancor & disillusionment for Germans

3. What were the long-standing consequences of the Paris Peace Conference?

a. Principle of Self-Determination:

b. Punitive Peace: Germany not destroyed, nor allowed to thrive

c. Conservatives fear of Bolshevism

i. Germany seen as buffer

d. USA fails to ratify treaty

i. No representation in League of Nations

ii. No agreement to defend France

iii. Isolationism results

The Russian Revolution & The Soviet Union

1. How did Russia change in the last decades of the nineteenth century?

a. Alexander II assassinated:

b. Alexander III – more repressive

i. Pogroms: state sponsored attack on Jews

ii. Russification: Orthodox Church supports – alienates subject nationalities

c. Russia Industrialized:
i. Gold standard

ii. Unions prohibited

iii. Strikes reveal deep misery among peasants

iv. Industrialization made easier for workers to organize

d. Primarily Agricultural:

i. High taxes:

ii. Land hunger:

2. Who were the main revolutionary opponents of the Tsarist regime?

a. Peasants:

b. Intellectuals:

i. The mir
ii. Social Revolutionary Party (SRP) founded:

1. Socialism w/o going through capitalism 1st
c. Russian Social Democratic Party:

i. Marxist party

1. Workers, not peasants would lead revolution

2. Lenin, Trotsky, Stalin lead

d. Mensheviks: orthodox, open, collaborative, democratically organized

e. Bolsheviks: full-time revolutionary, centralized, strong authority

The Revolution of 1905

1. What were political causes of the revolution of 1905?
a. New parties = political unrest (SRP, SDP, Constitutional Democratic Party):

b. Tsar – Autocratic: refuses to compromise

c. War loss to Japan:

d. Bloody Sunday

i. Father Gapon organizes workers

ii. Troops open fire – revolts erupt

iii. General strike in St. Petersburg

iv. October Manifesto:

1. Promised constitution

2. Civil liberties

3. Duma

2. What were the results of the Revolution of 1905?

a. Duma – parliamentary body, created

i. No authority on budget, foreign policy

b. Stolypin: sought to give propertied classes a stake in Tsarist government

i. Assassinated in 1911

ii. Land hunger & poverty continue

c. Freedom of press

i. Pravda, 1912 – Bolshevik newspaper

d. Fear of revolution encourages support of Serbs in 1914

i. Idea: War patriotism would rally around the Tsar – prevent revolution

The Revolution of 1917

1. How did the war lead to revolution?

a. Gap between regime & people:
i. Lack of nationalistic conviction:

ii. Government incompetence:

1. Food riots – troops refuse to fire and supress

b. Tsarina was German:

i. Suspicions

ii. Rasputin:

c. Duma suspended:

i. Middle class convinced change must be forced:

d. Provisional Government under prince Lvov:

i. Tsar abdicates, March 17

ii. Russia a republic

2. Why did the Provisional Government not last?

a. Called for elections

b. Land reform – took no action

c. War Continued

i. Order #1 – military command elected

1. Authority disappeared

d. Lenin (“Peace, Land, and Bread”) returns

i. Immediate peace

ii. Land reform

iii. Transfer factories/mines to local worker soviets

e. October Revolution (November 6-7, 1917)

i. Take over telephone exchanges, electricity

ii. Once in power – peace overtures to Germany & land transfer begins

f. Constituent Assembly (January, 1918)

i. Elections returned majority of Social Democrats

ii. Lenin supporters (Communists) dissolve assembly

iii. Majority rule rejected – Dictatorship of the Proletariat (minority) declared
g. Checka – secret police organized

h. Red Army – organized

i. Trotsky leads – re-establishes authority & discipline

i. Industries nationalized

i. Food requisitioned by force from peasants

3. How did the Communists win the Civil War?

a. Treaty of Bret-Litovsk – very harsh toward Russia

i. Lenin believed revolution would eventually spread making treaty meaningless in time

b. Food riots turn to class warfare (urban population vs. peasants)

c. Social Democrats joined with Czech Legion – armed resistance

i. Japan & US invade at Vladivostock to support anti-Bolsheviks (Whites)

d. Red Army wins back territory which had declared independence in wake of revolution

i. White not able to unify

ii. Whites antagonize and terrorize the peasants

e. Red Terror

i. Cheka shoots thousands of suspects – even for only family background

ii. Terror achieves purpose

1. Eliminates bourgeoisie as an identifiable force

f. European Socialists appalled – Mensheviks flee – divisions widen between Socialist and Communists

The Union of Soviet Socialist Republics (U.S.S.R)

1. How was the USSR organized?

a. 4 states in 1922
i. Goal to create World Soviet Socialist Republic

b. Communist Party

i. Top-down, Leninist structure

ii. Obedient, loyal – privileged lives (vested interest in party)

c. Government

i. Parallel existence with party

ii. Central Committee as head

iii. General Secretary leads committee

iv. Democratic principles – a hierarchy of Soviets elected by constituents

v. Only Communist party allowed

2. How did Lenin change policies when the civil war was over?

a. War Communism:

i. Alienated peasants

ii. Famine leaves millions dead

b. NEP

i. Lenin adopts compromise with capitalism

ii. Allows agricultural produce to be sold at market prices

iii. NEP lasts till 1927

c. Women suffrage, 1920

d. Film/writers praise revolution

i. Potemkin: film about 1905 revolution

3. What happened to Trotsky?

a. Lenin dies in 1924

b. Trotsky calls for “permanent revolution”

i. Increased industrialization and collectivization – econ plan

c. Stalin – takes over Communist Party

i. “socialism in one country” rather than international revolution

ii. Trotsky exiled to Siberia – expelled from USSR – murdered in Mexico, 1940

Stalin: The Five-Year Plans and the Purges

1. How was Trotsky’s economic program implemented?
a. Purged the man, kept his ideas (Industrialization, collectivization, central planning)

i. First Five-Year Plan, 1928

1. Engel’s idea that an economy should be run like a well-run factory

b. Goals of Five Year Plans

i. Economic and military self-sufficiency

ii. Modernization

iii. Advancement

c. Administration

i. Gosplan – minute instructions for every item produced/sold in economy

ii. Command economy – huge bureaucracy

d. Heavy Industry (iron, steel, coal, etc.) – top goal

i. Goal to increase without borrowing

ii. England’s industrialization via agricultural rev. as model

1. Peasants to pool land – work cooperatively

2. Kulaks resist ( liquidated (killed or exiled to Siberia)

e. Collectivization:

i. Quotas for agricultural production

ii. Surplus could be sold at market prices

iii. Failed to increase output

f. Industrialization Success – fastest pace ever

i. Third largest industrial nation by 1939 (US and Germany were 1 & 2)

ii. Railroads – Trans-Siberian:

iii. Central Asian republics & Siberia were industrialized (KEY for WWII):

2. What was the impact of these economic policies on the people?

a. Fewer consumer goods:

b. Long lines or do without staples:

c. Propaganda sustained moral

i. Hard work and creative thinking were ways to improve production

d. No unemployment – No boom or bust cycles – No economic equality (most poor, few rich)

e. Totalitarian Control:
i. No travel without permission

ii. No free press, speech, or unions

iii. Art literatue, music, all tools of propaganda

iv. Conformity & obedience

f. Constitution of 1936

i. Condemned racism

ii. Civil liberties promised

iii. Universal suffrage

iv. Stalinist totalitarianism firmly in place

g. Purges

i. Old Bolsheviks (Lenin supporters) executed

ii. 4 million people tried/convicted, 750,000 + killed

The International Impact of Communism, 1919-1939

1. How did the Soviet Union affect the internationalism of Marist socialism?

a. Marxist’s were “Internationalists” – World revolution – nation-state would wither away

b. Lenin was no Russian patriot:

i. Using Russia to start world revolution

c. Socialists see Bolshevism as betrayal of socialism

d. Third International (Leninist):

i. Lenin’s 21 points

e. Comintern: to promote revolution around the world

i. Creates fear of Bolshevik’s around the world

ii. Rise of Fascism partly attributed to this fear

f. Bolshevism vs. Fascism

2. Why were so many people impressed with the Soviet Union?

a. Extraordinary economic growth

i. Industrial & military strength

ii. Seemed the wave of the future

b. Marxism no longer theory, now in practice

c. No foreign capital was needed to develop – model for others

d. 1980’s flaw was apparent

i. Member states demand autonomy

ii. Economic reform required

iii. Purges revealed – moral credibility of the system damaged.

The Advance of Democracy After 1919
1. How did Europeans adjust to peace in the early years after the armistice?

a. Democracy spreads in newly created states:

b. Socialist divisions:

i. Communists:

ii. Socialists:

c. Italy: Fascism

i. Mussolini – ends parliamentary democracy

d. Eastern Europe

i. Democratic ideals less firm:

1. Agricultural:

2. Resentful ethnic minorities of newly created states:

3. Economic & Social modernization:

The German Republic and the “Spirit of Locarno”

1. How did Germany manage the transition to bring a republic?

a. Quick revolution near end of WWI leads to republic

i. Established by minority

ii. Social Democratic Party (SPD) dominates:

1. Marxist but revisionist:

2. Few reforms made

3. No nationalization of industry, etc.

b. Crushed Spartacist uprising:

i. Increases hostility between Socialists & Communists

c. Weimar

i. Constitution written in Weimar

ii. Workers of Berlin stop right-wing seizure of power (putsch)

iii. Beer Hall Putsch, Munich, 1923 – similar uprising led by Adolf Hitler

2. Why was the issue of reparations so important?

a. No one accepted peace terms as legitimate – esp. war guilt clause

i. Seen as punitive peace:

b. French nervous:
i. Relied on payments to support econ.

ii. Seeks alliances to surround Germany

c. Germany Signed Treaty of Rapallo with Russia

i. Allows Russia to import industrial goods from Germany

ii. Germans use Russia to train officer corps

iii. German army managed to keep itself in good form

d. French Occupation of the Ruhr

i. French invade when Germany cannot make payments

ii. Passive resistance – strikes result

iii. Govt. issues paper money – leads to inflation

iv. Middle class suffers – loses faith in future

e. The Dawes Plan

i. U.S. solution to help Germany with reparations

1. French leave Ruhr

2. Payments amount reduced – Germans able to borrow funds

3. How did the “spirit of Locarno” offer hope of a better world?

a. 1925, series of treaties signed in Locarno

i. Germany with France & Belgium – guaranteeing boarders

ii. France supports Little Entente (Czechoslovakia, Yugoslavia, Romania):

iii. Britain guarantees boarders of France & Belgium

1. Not Czechoslovakia or Poland – war begins 14 yrs later

b. Spirit of international cooperation – mutual respect

i. Kellogg-Briand Pact

1. Expresses optimism in this new spirit

2. Sought to outlaw war

The Great Depression: Collapse of the World Economy

1. What were the underlying weaknesses of the 1920s economic boom?

a. Wages lag behind prices – limits purchasing power

b. New industries:

i. Automobile – increase demand for oil, rubber, roads

ii. Radio

iii. Film (entertainment) – increase demand for variety of products

iv. Period of expansion, prosperity, optimism

c. Credit – Not Savings

i. Funds most of the expansion

ii. Agriculture suffers in depression of 1920s

1. Mechanization advances lead to dropping prices

2. Growers cannot make a profit

3. Many farmers go unemployed

2. How did the Depression begin in Europe?

a. 1920s Speculation (“buying on margin” – without actual cash)

i. New York Stock Exchange collapse, Oct 1929

ii. Global fall follows

iii. Banks close within months – years

iv. World trade and production falls

3. How did governments respond to the crisis?

a. Hoover – a larger than normal business cycle – did very little

i. Laissez-faire attitude gives way to demands for planned economy

b. Governments attempt to “put populations back to work”:

c. Currencies off Gold Standard – debase the currency

i. Make good cheaper:

ii. Protectionist tariffs

iii. Restrictive quotas imposed

4. How did artists and writers respond to the Depression?

a. Artists took to realistic portrayals of the suffering

i. Emotional crisis of ordinary people

b. Joyce, O’Neill, Woolf – examine personal and emotional experiences

c. Some writers flirt with Communism – Steinbeck’s The Grapes of Wrath.
Democracy and Dictatorship in the 1930s
Trials and Adjustments of Democracy in Britain and France

1. How did Britain deal with increasing economic competition after World War I and then with the Depression?

a. Begins to lose supremacy:

b. Labor/Management tensions grew:

i. General strike, 1926, coal miners

c. Labour Party – for gradual democratic socialism

i. MacDonald

ii. Recognition of Soviet Union

2. What problems did Britain have with its colonies and Ireland after World War I?

a. Palestine mandate:
i. Jewish émigrés from Europe settling
ii. Both Arabs & Jews claim Palestine, both hostile to British rule

b. Ireland – home rule 1914

i. Divided, 1922

ii. First dominion status – independent, 1937:

c. Canada, Australia, New Zealand – equal status with Britain

i. Bond remain strong with empire

3. What problems faced France after World War I? How did it deal with the Depression?

a. Foreign policy – keep Germany at bay:

i. Communists & Socialist divisions:

b. Occupation of Ruhr, 1923:

i. Reparations:

c. Depression less intense:

4. What was the political response to the Depression?

a. Spanish Civil War?

i. Republic fights Fascist rebellion

ii. No aid from France, Britain

iii. Russia and Germany take sides, send aid

1. Hitler tests western resolve

2. Hitler tests war tactics and new equipment

Italian Fascism

1. What were conditions in Italy after World War I?

a. Allied side – Secret treaty of London, 1915

b. Debt problems:

i. Depression, unemployment, crop destruction:

c. Socialists & Catholic Popular Party:

2. Who was Mussolini, and how did he organize a political movement?

a. Mussolini:

i. Socialist editor:

ii. Roman fasces – symbol of Italian unity:
iii. Blackshirts:

1. Brawled with labor unions and communists:

b. Fascism: radical totalitarianism under single leader (Il Duce)

i. Democracy divides people

ii. Strong national solidarity to be main goal:

iii. Industrialist and landowners support with money:

iv. Lower class supports due to inability for Communism or Democracy to solve econ issues

c. Fascist squads attack, murder opponents

d. March on Rome, 1922:

i. Mussolini made premier – Parliament gives him emergency power

ii. Mussolini pushes law giving 2/3 seat majority to top elected party, assuring control

e. Freedom of press disappears:

i. Strikes outlawed

ii. One-party state est.:

3. What was the nature of the fascist state?

a. Corporate state:

i. Corporation created for each sector of economy:

1. Reps of Labor, employers, and govt. determine wages

2. Purpose: to solve the inefficiencies of free capitalism, avoid evils of Stalinist dictatorship.

3. Public works and propaganda used to increase production.

b. No significant changes in class structure

c. Concordat with Pope

i. Ends 60 year feud, church appears to support Fascism

ii. Anti-Semitism develops only AFTER alliance with Germany

Germany’s Third Reich

1. Who was Hitler, and how did he organize his movement?

a. Eastern Austrian, high school drop out
i. Anti-Semitic, racist

ii. Corporal in German Army in World War I

b. Army assigns Hitler to watch over small German Workers’ Party

i. Leads party, changes name to National Socialist German Workers’ (Nazi)

1. Private army

2. Brownshirts – storm troopers

c. Putsch – Beer Hall in Munich:

i. Hitlar in Jail – writes Mein Kampf
d. Depression:

i. Poplar support grows for savior from Bolshevism and Treaty of Versailles

ii. Hitler promises “true democracy”  with one man (Der Fuhrer) leading:

e. Elections to Reichstag:

i. 1930 – 1932 – Nazi becomes largest party in Germany

f. Hindenburg – elderly President of republic, appoints Hitler Chancellor

i. Reichstag FirE:

1. Communists blamed

2. Emergency powers voted to Hitler

a. Civil liberties suspended

2. What was the nature of the Nazi state?

a. The Third Reich (first was holy Roman Empire, second Bismarckian state)

i. Opposed democracy, liberalism, parliamentarianism, socialism, communism
b. Political enemies – concentration camps:

i. Later, camps used to detain Jews

c. Nuremberg Laws - Anti-Jewish legislation, 1935

i. Kristallnacht (Night of Broken Glass):

d. Totalitarians state created:

i. Party purged

ii. Churches lost independence (Nazism became new religion):

e. Econ goal of self-sufficiency

i. Four-Year Plan:

1. Vast rearmament program

3. What were common features of totalitarian states?

a. Opposites of Bolshevism and Nazism (left and right wing)

i. Bolshevism meant to be temporary – a means to an end, non-nationalistic, officially denounces racism

ii. Nazism meant to be permanent – nationalistic, racist, exalted war

b. Common traits in practice:

i. One-party dictatorships:

ii. Individual rights denied

iii. Cult around leader

iv. Millions died

v. Anti-Christian

vi. Valuable services to the greater good (the party) – no individualism

vii. Propaganda machine to manipulate opinion

c. Racism:

i. Unique element of Nazism

ii. Defines Jews by blood, not faith

1. Scapegoats

d. Private Armies

i. All totalitarian states used

1. Brown shirts, black shirts, red shirts

2. Women trained to breed strong Aryan race
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